IF548A%: 000061 EFHRIRR: KEm A5%WS: 2017—112

YT AR S A A PR A F] R T HLA T e ik
A M8 .36% A BEE K™ H & H MR E R A S

KT REFEERE AR S SR A BT, . 5%
B, WAHRRICHE. RSV EE KR

YA i A R AR CBURfRFR “Am” ) Shisd R
ETERUE Gy Bt A FEEE AL A R A R e A TR A ] (BT
fRIFR AR 7, A E] ERE R ERFA PR N 39.2927% A 8.36%
IR AL o 5 T2 S R FIT RS LD rhfe o I S N S A . € BT A )
HOR R E A L INE) BUE I E K B AR OCAR U, A AR R
A2 8 ER K 7 o A A R JE AT A R LSS AR T

ARHEERYITESR 2 5 BT (A SR e , 48 A B R YINIES 22 5 i B s
NEI SR (ICERTAIRR: A7, fesRARES: 000061) H 2017 £ 6 H
28 H Tl e fs bt s 247 PR 7 AR E K77 HY B S T 58 B B
A5 7 PR B HE SR M T BL 8 . B2k HIEREAREN . XA
F R AR FIF AT IRE T« LB RS $E R AR I3t s
Do CHRAZ R & R I e A 5 BARTE LA W] T 2017 42 6 7 28
H.7ASH.7H12H. 7H19H. 7H26H. 7728 H. 8 A
4H.8H11H.8H18H.8H25H.8H28H.9H4H.9
H11H.9H 18 H.9 H 25 H. 10 A 18 HFIBSE GIEFRIHR) . (F
EREZAR) . (EHEHESRIR) . GEFHRHIRD) K ESEIRMEAS)

A JEWHEARIE 3 A H I E A, B 2017 42 9 H 29 H AT



B (D TFRATUES 1 w45 B ee A A S e 26 55— BTl A w)
BB EA) IR ERF T EAGRE . £T, ARLEEL
R IAPR P B R A TGS, ARE A 7 X R S R BR ARt T, A
T 2017 £ 9 H 26 H AT A%/ EEFESF /NI, HEGET T
(RT B LR HAR A =R T B HIR R, fak, &4
A FRIINIESRAE 25 BT B, A AR GIEZR AR A7 dh, IEZ XD
000061) ©7- 2017 49 H 27 H B A A mil . HE, ArikeEs
RO 4k SR AR R AR VB R B B I (AR TE WA R] T 2017 47 9 H
27 HTEAE GEFMIRD). CPEREF#HRY . ( EREFHR) . GEZFH
) J BB A D

BWEARANEWEEH, AF) A KIT IEEGRSEHE AR E K™ H
BRI R LAE, HH T PPl BRIW . W55 e &5 rh A LA T e o
Ty PPN DUROR B, JRAR Y EA 5 R UE AT AR . H
I o TR R A ATLAL O B T RPPAG RS A, oAt T4 2
R SGARAAE 77 TEAEHEE

N F) R R SR A AN b H AR AT B R 1 L, S AT
5 R EE L5

AFFRERS BB EAN GEFHEIIR) CHERESIR) . (EHEIE
F) GIEF B MERZERM (www.cninfo.com.cn), A=A
7 B AAE Bk fi 8 SRR & 1 A ik

ARFIUEAE AT A 5™ WA MR, AR AR A 7 #H
Hoyy AR RSHU, ARBUHIRYE (Ll A s =K% HAE



INED FARIE AT ARAT BT AT S AL AR 7, AR IR I PRI
BRI TR . AR E KRG GRS KA FHHE =
AR R 2R BATHE AT 57 MBS M O 2 B Re RS, Bk
JEAT TR 7 o e 440 T I AR A A SO A AE AN e e o B T
R BT E AR TR

Sl /N

DRONTE A7 dib e A A7 PR 2
= F =

—O—+t%Ht+—H—H





